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E Al 89,697,598 85,432,000 -4,265,598 E Al 89,697,598 85,432,000 -4,265,598
BEX3+¢ BXz+Y 86,168,000 83,632,000 -2,536,000 | At HI oI 2 H 48,393,740 49,898,720 1,504,980
SAS+Y =2z=z+Y 3,476,000 1,800,000 —-1,676,000 | At HI =3l 10,356,269 10,735,280 379,011
=1 == 50,800 0 -50,800 | XH &H= & H A& H 4,100,000 500,000 -3,600,000
=g &= 2,798 0 -2,798 | At H A 16,170,389 14,820,000 -1,350,389
At I T2 At dl 10,677,200 9,340,000 -1,337,200
Glglel & JIEF |OiBIEl 2 D1 E 0 138,000 138,000
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PSS = golld = s 2 o Z 2 (%)
A 89,697,598 85,432,000 -4,265,598
ENEIREEL
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XI0tol 5/t 30,0002+ 12JH€ = 360,000
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